
100th Intermediate Pairs Championship - Thursday 13th January 2022 - FOB 

 

 4 2 

 A 10 9 8 

 Q 9 8 6 

 A 7 2 

 8 6 5  A K Q 

 Q 6 5  K J 4 2 

 7 4 3  A K 5 2 

 Q J 10 6  K 5 

 J 10 9 7 3 

 7 3 

 J 10 

 9 8 4 3 
HCP  Makeable contracts 

         NT 

 10   N - - - - - 

5  23  S - - - - - 

 2   E 2 3 3 2 3 

    W 2 3 3 2 3 
 

Board 2 : Dealer East : NS vulnerable 

3NT-1 by East. 

North takes his aces in clubs when declarer plays his last 

club from the short hand i.e. on the second round. 

South tells North how many cards he himself holds in clubs 

by giving a count signal. South shows 4 clubs by playing hi-

lo when following suit i.e. 9 followed by the 3. 

Now North knows to win the second round of Clubs and North 

also knows not to allow declarer’s queen of hearts become 

an entry to the clubs i.e. North must keep his ace of clubs to 

beat dummy’s queen of hearts and must not release his A 

when declarer tempts him with his K or J. 

 

 

 

 

 

 

 2 

 K Q J 10 

 7 6 5 2 

 7 5 4 2 

 5 4 3  9 7 6 

 9 8 7 2  A 6 5 

 Q 10 9  J 8 4 

 A K 9  Q J 10 8 

 A K Q J 10 8 

 4 3 

 A K 3 

 6 3 
HCP  Makeable contracts 

         NT 

 6   N 2 2 2 3 2 

9  8  S 2 2 2 3 2 

 17   E - - - - - 

    W - - - - - 
 

Board 1 : Dealer North : Love all 

4-1 by South. 

The golden rule in defence is that we take our ace when 

declarer plays the last card from his shortest hand.  There 

are 4 hearts in dummy and 2 in declarer’s hand – so East 

must take his ace of hearts on the second round (not the 

first round and not the third round). 

But East can’t see declarer’s hand – so how does he know 

that declarer has exactly 2 hearts? 

He knows how many declarer has because his partner West 

tells him how hearts West has!  West gives a hi-lo count 

signal in Hearts (showing 2 or 4 hearts) and now East knows 

that declarer also holds 2 or 4 hearts – so he holds up his A 

until the second round. 



 J 10 9 8 4 

 K 10 9 2 

 J 7 

 9 2 

 Q 6 2  A 3 

 A Q J   7 5 4 

 A K 5 3  8 6 2 

 5 4 3  K Q J 10 6 

 K 7 5 

 8 6 3 

 Q 10 9 4 

 A 8 7 
HCP  Makeable contracts 

         NT 

 5   N - - - - - 

16  10  S - - - - - 

 10   E 3 2 1 1 2 

    W 3 2 1 1 2 
 

Board 3 : Dealer South : EW vulnerable 

3NT-1 by West. 

North gives a count signal in Clubs, showing 2 cards in 

clubs by playing the 9 on the first round of the suit and 

following with the 2 on the second round. 

Now South will know that declarer has 3 clubs and will know 

to win the third round of Clubs – i.e. taking his ace of clubs 

when declarer plays the last club from his hand. 

 

 

 K 6 4 

 A Q 

 A 9 8 5 4 

 Q 8 5 

 10 9 8 7  5 3 

 K 7 5  J 10 6 4 2 

 7 3 2  K 6 

 K 9 7  A J 6 4 

 A Q J 2 

 9 8 3 

 Q J 10 

 10 3 2 
HCP  Makeable contracts 

         NT 

 15   N - 3 - 3 2 

6  9  S - 3 - 3 2 

 10   E - - 2 - - 

    W - - 2 - - 
 

Board 4 : Dealer West : All vulnerable 

3NT-1 by North. 

From West’s play of the K at trick one, East knows that 

declarer has AQ (West would follow suit with the Q if he 

held KQ). 

West gives a count signal in Diamonds so that when East 

gets in with the K, he should be able to count declarer’s 

tricks as being 4 Spades, 2 Hearts and 4 Diamonds and 

therefore know to switch to Clubs to have any chance of 

beating the contract. 

East switches to the 4 to let West know to return a Club 

rather than a Heart when West wins with the K.  If East 

wanted West to return a heart he would switch to a higher 

club. 

 



 K Q 10 4 3 

 K Q J 5 

 Q 10 

 A 8 

 J  9 7 

 A 8 4 3 2  9 

 A 9 5 3  J 7 6 4 2 

 10 9 6  Q J 4 3 2 

 A 8 6 5 2 

 10 7 6 

 K 8 

 K 7 5 
HCP  Makeable contracts 

         NT 

 17   N - - 3 3 2 

9  4  S - - 3 3 2 

 10   E 2 2 - - - 

    W 2 2 - - - 
 

Board 5 : Dealer North : NS vulnerable 

4-1 by North. 

East leads his singleton Heart.  West should be able to 

recognise the 9 lead as a singleton.  He wins and returns 

8 as a suit preference signal for Diamonds – telling East to 

return a diamond if he wants another heart ruff.   

The defence win the first 4 tricks. 

 

 10 6 3 

 A J 5 4 2 

 - 

 A 8 4 3 2 

 K 9  A Q J 8 5 4 

 Q 9 7  10 

 A K J 8  Q 10 4 

 K J 10 7  9 6 5 

 7 2 

 K 8 6 3 

 9 7 6 5 3 2 

 Q 
HCP  Makeable contracts 

         NT 

 9   N - - 3 - - 

17  9  S - - 3 - - 

 5   E 2 1 - - 1 

    W 2 2 - - 1 
 

Board 6 : Dealer East : EW vulnerable 

 

4-4 by East. 

West leads his singleton Q.  North recognises the lead as 

a singleton (we never lead doubleton queens).  North wins 

and returns a suit preference 2 asking South to return a 

Diamond if he wants another ruff. 

 

If South does as he is told the defenders will win the first 7 

tricks!!!!!!! 

 



 2 

 K Q 8 4 

 10 7 4 3 

 A J 10 8 

 K Q 10  J 6 5 4 

 A 10 9 7 6 5  2 

 J 9 5  K 8 6 2 

 5  K 9 7 2 

 A 9 8 7 3 

 J 3 

 A Q 

 Q 6 4 3 
HCP  Makeable contracts 

         NT 

 10   N 3 1 1 1 2 

10  7  S 3 1 1 1 2 

 13   E - - - - - 

    W - - - - - 
 

Board 7 : Dealer South : All vulnerable 

2x-4 by West (+1100) 

North leads his singleton 2.  South wins with the Ace and 

returns a suit preference 9 asking for a Diamond return. 

South opens 1.  If West comes in 2 then N/S should say 

‘Thank You’ and take their +1100. 

 

I hope ye know whether 1-2-Double is penalty or 

negative? 

I also hope South knows what he should rebid after: 

1-2-Pass-Pass 

? 

 

 8 6 2 

 K Q J 

 Q 9 6 5 

 K Q 8 

 A K  Q J 10 9 3 

 8 7 5 2  A 6 4 

 7 4 2  8 3 

 7 4 3 2  9 6 5 

 7 5 4 

 10 9 3 

 A K J 10 

 A J 10  
HCP  Makeable contracts 

         NT 

 13   N 3 3 2 1 1 

7  7  S 3 3 2 1 1 

 13   E - - - - - 

    W - - - - - 
 

Board 8 : Dealer West : Love all 

3NT-2 by North.  East leads Q. 

When West follows suit by playing the Ace followed by the 

King of Spades, he is saying that he has ace-king doubleton 

- it is normal to follow suit with the lower of touching cards i.e. 

the king first holding ace and king – so when you don’t do 

that you are saying you have AK tight. 

So East should give a suit preference signal on the second 

Spades by following suit with the J to say that his entry is 

in the higher suit i.e. hearts. 

 

 

 



 A 6 4 3 

 7 4 2 

 J 8 6 

 A Q J 

 K 9  Q J 10 8 5 2 

 Q 3  K 10 6 5 

 10 7 4 2  A 5 

 10 5 4 3 2  7 

 7 

 A J 9 8 

 K Q 9 3 

 K 9 8 6 
 

HCP  Makeable contracts 

         NT 

 12   N 4 4 3 - 1 

5  10  S 4 4 3 - 1 

 13   E - - - 1 - 

    W - - 3- 1 - 
 

 

Board 9 : Dealer North : EW vulnerable 

 

3NT-2 by North. 

3NT will go two down as long as West overtakes the 

Queen of Spades with his King at trick 1 - and as long as 

East remembers to overtake South’s 9 at trick 2. 

 

 

 K 

 A 9 3 2 

 10 6 4 

 A K 10 9 8 

 8 7 6 5  A Q J 4 3 2 

 10 5  J 4 

 A 7 3 2  K J 9 

 J 4 2  7 5 

 10 9 

 K Q 8 7 6 

 Q 8 5 

 Q 6 3 
HCP  Makeable contracts 

         NT 

 14   N 3 - 3 - - 

5  12  S 3 - 3 - - 

 9   E - 2 - 3 - 

    W - 2 - 3 - 
 

Board 10 : Dealer East : All vulnerable 

4-1 by South. 

West leads MUD in Spades (second highest from 3 or more 

small cards).  East wins the Ace and switches to J – called 

a ‘surround’ play.  East mentally borrow dummy’s 10 when 

selecting the card he will lead to trick two i.e. he mentally 

assumes his Diamond holding is KJ10 and switches to the 

Diamond Jack.  

The defence win the first 4 tricks. 

 

Make sure you don’t let E/W play in 2 - that is losing 

bridge….on top of that if E/W bid to 4 and N/S do not take 

their 4 top tricks – East might make 4 if he takes the 

‘Backward Finesse’ in diamonds. 

 



 K J 10 

 A Q 

 A Q 8 3 2 

 K 6 3 

 A Q 5 3 2  9 6 

 9 8  7 6 5 4 2 

 5 4  K 7 6 

 A Q 10 8  7 5 2 

 8 7 4 

 K J 10 3 

 J 10 9 

 J 9 4 
HCP  Makeable contracts 

         NT 

 19   N - 3 1 - 2 

12  3  S - 3 1 - 2 

 6   E - - - 1 - 

    W - - - 1 - 
 

Board 11 : Dealer South : Love all 

3NT-1 by North. 

 

East leads his partner’s Spade suit.  West wins with the Ace 

and switches to the Q to set up 3 Club tricks for the defence. 

 

This is a ‘surround’ play from the other side of the table.  We 

mentally borrow Declarer’s J giving us a Club holding of 

AQJ10 and now the switch to the Q stands out! 

 

 K 9 

 10 7 6 4 

 9 8 7 5 

 A Q 5 

 A 3 2  Q 10 6 

 5 2  A K J 8 

 6 4  A K 3 2 

 K J 10 8 4 3  7 2 

 J 8 7 5 4 

 Q 9 3 

 Q J 10 

 9 6 
HCP  Makeable contracts 

         NT 

 9   N - - - - - 

8  17  S - - - - - 

 6   E 4 1 2 2 2 

    W 4 1 2 2 2 
 

Board 12 : Dealer West : NS vulnerable 

3NT-1 by East. 

South leads a Spade.  North wins and continues with another 

Spade. 

North should let dummy’s first Club win.  Now there aren’t 

enough entries to dummy to be able to setup and cash the 

Clubs. 

Not an easy defence to get right the first 5 times you meet it 

but it makes sense when you think about it! 

 



 10 6 5 

 10 3 

 8 3 2 

 J 9 8 6 3 

 K Q J 8 7 4  9 3 2 

 8 6  J 5 2 

 K  A Q J 10 6 5 

 K Q 7 4  A 

 A 

 A K Q 9 7 4 

 9 7 4 

 10 5 2 
HCP  Makeable contracts 

         NT 

 1   N - - 1 - - 

14  12  S - - 1 - - 

 13   E - 3 - 3 - 

    W - 3 - 3 - 
 

Board 13 : Dealer North : All vulnerable 

4-1 by West.  North leads 10.  South plays 3 rounds of 

Hearts.  West ruffs high and then goes to dummy to lead a 

trump. 

South wins with the Ace of trumps and leads a fourth round 

of Hearts promoting North’s 10 to the setting trick. 

When the defenders can see that there are no more tricks 

available in the side suits they should try and setup trump 

tricks for themselves. 

 

 J 6 

 A Q J 7 6 5 

 K 10 8 3 

 J 

 A K Q 9 7 4  10 2 

 4  K 10 2 

 9 7  6 5 

 10 8 4  K 9 7 5 3 2 

 8 5 3 

 9 8 3 

 A Q J 2 

 A Q 6 
HCP  Makeable contracts 

         NT 

 12   N - 4 3 - - 

9  6  S - 4 3 - - 

 13   E 2 - - 1 - 

    W 2 - - 1 - 
 

Board 14 : Dealer East : Love all 

4-1 by North.  East leads J.  West plays 3 rounds of 

Spades. 

If declarer ruffs low then he is down straight away because 

East gets two trump tricks with the 10 and K. 

If declarer ruffs with the Q or J, East can defeat the 

contract by refusing to over-ruff – again not easy to see – but 

100% true every night of the week. 

 



 A K 8 3 

 J 10 7 2 

 K Q 

 J 5 3 

 J 9 7 5  10 4 

 9 3  Q 8 6 

 9 8 5 3 2  J 10 6 

 10 4  A K Q 7 2 

 Q 6 2 

 A K 5 4 

 A 7 4 

 9 8 6 
HCP  Makeable contracts 

         NT 

 14   N 2 - 3 3 2 

1  12  S 2 - 3 3 2 

 13   E - - - - - 

    W - - - - - 
 

Board 15 : Dealer South : NS vulnerable 

4-1 by South.  Hopefully East doubles the 2 Stayman bid 

by North and now West will lead a club. 

West leads 10.  East plays 4 rounds of Clubs.  If West ruffs 

the 4th Club with the 9 he will promote East’s Q to the 

setting trick. 

East should see that the only chance of a 4th trick for his side 

is by promoting his own Q. 

 

 10 

 Q J 10 7 6 4 3 

 9 

 8 7 4 3 

 Q 5 3  A K 8 7 6 4 

 A 5  K 8 

 Q J 10 7 4  6 

 A Q 5  K J 9 2 

 J 9 2 

 9 2 

 A K 8 5 3 2 

 10 6 
HCP  Makeable contracts 

         NT 

 3   N - - - - - 

15  14  S - - - - - 

 8   E 5 4 1 5 5 

    W 5 4 1 5 5 
 

Board 16 : Dealer West : EW vulnerable 

6-1 by East.  South leads A and continues with a small 

Diamond.  North ruffs and now South’s J becomes the 

setting trick. 

South should see that the only chance of one more trick is to 

hope that North has the 10 and that he can be made ruff in 

with it.  If South continues with the K at trick 2 then North 

won’t know to ruff in. 

 



 A 2 

 J 10 8 6 

 A K J 10 5 

 K 5 

 10 8 6 4 3  K 7 5 

 A Q 3  5 

 6  9 7 4 3 2 

 J 9 7 4  Q 10 8 3 

 Q J 9 

 K 9 7 4 2 

 Q 8 

 A 6 2 
HCP  Makeable contracts 

         NT 

 16   N - 4 3 - 3 

7  5  S - 3 3 - 3 

 12   E 1 - - - - 

    W 1 - - - - 
 

Board 17 : Dealer North : Love all 

4-1 by South.  West leads his singleton Diamond and East 

should recognise it as a singleton and give a suit preference 

signal by following suit with 9 to show his Spade entry. 

West wins the first Heart and shifts to a Spade.  Declarer can 

win with the Ace but when West wins the next round of 

trumps he can put East in with the K to get his Diamond 

ruff. 

 

 3 

 K Q 9 6 5 

 9 8 2 

 Q 8 6 4 

 J 10 6 5  K 9 8 7 2 

 7 3 2  A J 

 K Q J 10  A 7 6 5 3 

 7 3  A 

 A Q 4 

 10 8 4 

 4 

 K J 10 9 5 2 
HCP  Makeable contracts 

         NT 

 7   N 4 - 3 - - 

7  16  S 4 - 3 - - 

 10   E - 4 - 3 1 

    W - 3 - 3 1 
 

Board 18 : Dealer East : NS vulnerable 

4-1 by East.  South leads his singleton Diamond and North 

should recognise it as a singleton and give a suit preference 

signal by following suit with 9 to show his Heart entry. 

 

Now South can eventually put North in by leading Hearts 

each time he gets in and he will then get his much sought 

after Diamond ruff. 

 


